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3 A bar of length L with weight W is initially pinned at end A
and is connected to end C by a wire BC as shown in Fig. A,
if the bar is released from rest at 0= 60' by cutting the
wire BC, please determine the reaction at end A when the bar
at the position of 0 = 30. . (15%)

41; A bull A of mass 10 kg suspended from ceiling by a wire of

length 1 m as shown in fig. B, i§ initially in horizontal

position and released from rest to its lowest position to
hit a block B of mass 15 kg which is connected to a spring
with ;pring constant k = 90 N/m, "whereas the coefficient of

restitution between. the ball and the block is & = 0.5.

By assuming no frictions between all the contacting surfaces

» please determine the maximum deformation of this spring.
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A 180-N force is applied at corner B of a rigid piece of pipe ABDE as shown. The pipe is

supported by the ball and socket joints A and E, respectively, and by a cable attached at

'the midpoint C of the portion BD and at a point G on the wall. Determine

1) the moment about point "A" due to the force W (5%)
2) the moment about axis AE due to the force W (10%)

3) the minimum tensile force (Tc) in the cable CG when the system is in equilibrium. (15%)




